WEHEE~YYT
FAR ) 7 S\—H 4 K7 8—% (BBINHE ~ L #048)

| < i
=" ¥ x L A o8
- - iz
His = Iy B
£ L
= D) |
o
=
>
7N
ERE25%F 11 A 148REE
o N AEE | B o N BEE | AIEE
B | BIEERT S 2 | BIEERR =r
1.9.5 2.6.2 1.9.5 2.6.2
100cm| 0.077 0.059 100cm| 0.083 0.075
® it 50cm| 0.072 0.065 @ it 50cm| 0.080 0.078
sem|  0.073 0.058 5em|  0.082 0.077
100cm| 0.085 0.084 100cm| 0.079 0.071
® &t 50cm| 0.080 0.091 &t 50cm|  0.073 0.081
5ecm|  0.085 0.094 5cm|  0.072 0.075

B gBv/4o00—X)Lk
NKEEBELUT RN 126, RERADAZFRIE, BIFEEHATLLSMK0.20 4 Sv/h(H=50cm) K iG=HEE



